SC-CB-SC-MB-SC-SB | EFI= ,.
mER) - B o ILJAITLA TOHATSU

(oHs) [sus)

e | RE i /28 am
S45C | FE | UENEMHRE)IX

SA45C | EBRRIR | ILIIRAA(SUS) 2

SUS304 - LETIB4A(SUS) 22

oD*0.1
@D1-02
2B H8

L1

S45C
RE RERE SUS304  lam® B | D: | L | L | D M
m %k | EE| R %O | EFE| m %O |EE
SC0307CB | ~ |sSco3o7MB| ~ | sco3o7sB| -~ gg 3| 5 [ 75| 25| 7| #um3x3
69477
SCO407CB | ~ |SCOAOTMB| ~ |SCOAOTSB | ~ (.~ 4 | 6 | 75| 25 | & | %33
69577
$C0507CB | ~ |scosorMB| ~ |scos07sB| ~ [ eoszz | 5 | 72| 75| 25 | 11 | #m3x3
62577
SC0607CB1 SC0607MB1 SC0607SB1 60622 54 75 25 | 13| W33
SC0607CB2| ~ |SC0607TMB2| ~ [SC0607SB2| ~ | 6262z | 6 | 92 | 75 | 25 | 13 |  WM3x3
SC0607CB3 SC0607MB3 SC0607SB3 69672 8§ | 75 25 | 13 | W33
SC0809CB1 SC0809MB1 SC0809SB1 60822 17 95 | 25 | 18 | w44
SC0809CB2| ~ |SC0809MB2| ~ |[SC0809SB2| ~ | 62822 | & | 114 | 95 | 25 | 18 | Wax4
SC0809CB3 SC0809MB3 SC0809SB3 69822 04 95 | 25 | 18 | Maxa
SC1011CB1 SC1011MB1 SC1011SB1 600022 w2 1L |3 | 20| M5x6
SC1011CB2| ~ |SCI01IMB2| ~ [SCI1011SB2| ~ | 62002z | 10 [ 167 |11 | 3 | 20 | W5%6
SC1011CB3 SC1011IMB3 SC1011SB3 690027 B2 1 |3 | 0| M5x6
SC1211CB1 SC121IMB1 SC1211SB1 600122 T2 1 |3 | 2| Msee
SC1211CB2| ~ |SC1211MB2| ~ [SC1211SB2| ~ | 601zz | 12 [ 177 |11 | 3 | 22 | W5%6
SC1211CB3 SC1211MB3 SC12115B3 690122 G211 |3 | 2| wsxe
SC1511CB1| 2 |SCI51IMB1| - |SCI511SB1| & | 60022z | 15 | 202 |11 | 3 | 25 | W5%6




SC-CB- SC-MB - SC-SB Eﬁ% o Jiwata TOHATSU

S45C

RE mERE SUS304  \mowi® B | Di| L | L | D M
5 % |EE| 8 ¥ EE| & ¥ |EG
SC1511CB2 A SC1511MB2 A SC1511SB2 ~ 620277 15 212 | 11 3 25 M5%6
SC1511CB3 SC1511MB3 SC1511SB3 690277 187 | 11 3 25 M5%6
SC1713CB1 SC1713MB1 SC1713SB1 600377 222 |13 3 28 M6x%6
SC1713CB2| ~ |[SC1713MB2| ~ [SC1713SB2| ~ 6203727 17 242 | 13 3 28 M6X6
SC1713CB3 SC1713MB3 SC1713SB3 690377 202 | 13 3 28 M6X6
SC2013CB1 SC2013MB1 SC2013SB1 600477 252 | 13 3 35 M6%6
SC2013CB2| ~ |[SC2013MB2| ~ [SC2013SB2| ~ 620477 20 272 | 13 3 35 M6%6
SC2013CB3 SC2013MB3 SC2013SB3 690477 247 | 13 3 35 M6X6
SC2513CB1 SC2513MB1 SC2513SB1 600527 312 | 135 | 35 38 M6X6
SC2513CB2| ~ |[SC2513MB2| ~ [SC2513SB2| ~ 620577 25 332 | 135 | 35 38 M6%6
SC2513CB3 SC2513MB3 SC2513SB3 690577 30.2 | 135 | 35 38 M6X6
SC3015CB1 SC3015MB1 SC3015SB1 6006727 382 | 155 | 35 45 M8x8
SC3015CB2| ~ |[SC3015MB2| ~ |[SC3015SB2| ~ 620677 30 40.2 | 155 3.5 45 M8x8
SC3015CB3 SC3015MB3 SC3015SB3 690677 352 | 155 | 35 45 M8x8
SC3516CB1 SC3516MB1 SC3516SB1 600727 432 | 165 | 45 50 M8x8
SC3516CB2| ~ |SC3516MB2| ~ |SC3516SB2| 2~ 6207727 35 462 | 165 | 45 50 M8x8
SC3516CB3 SC3516MB3 SC3516SB3 6907727 412 | 165 | 45 50 M8x8
SC4018CB1 SC4018MB1 SC4018SB1 6008727 482 | 185 | 45 60 M10x8
SC4018CB2| ~ |[SC4018MB2| ~ |[SC4018SB2| ~ 620877 40 522 | 185 | 45 60 M10x8
SC4018CB3 SC4018MB3 SC4018SB3 690877 462 | 185 | 45 60 M10x8

B fAst
CWENRIENBMRA T
- REUREEZEP.500

TE & % | [ 16X
SC0307CB

=113




